Addition and Subtraction of Length

. Astick is 45 cm long and another is 35 cm

Total length =

. Ria’s ribbon is 90 cm. She cuts off 40 cm

Ribbon left =

. Tick the correct answer

25cm+50cm =

(@) 75 cm C]
(b) 85 cm C]
(c) 65 cm C]

. Fill in the blank
I1m=100cm

So,1m+35cm= cm

. Match the pair

(a) 50 cm + 20 cm (i)90 cm
(b) 80 cm -30cm (ii) 200 cm
(c)60cm +40 cm (iii) 20 cm

. Aribbon is 120 cm. She uses 60 cm

How much is left?

. Fill the blanks
35cm+45cm=__ cm
80cm-25cm=__ cm

. Aropeis 1 mlong. Another rope is 70 cm

Total = cm
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. 9. Draw two bars: 60 cm and 40 cm
<4®
Y{E Now show their total with a number sentence
10.Tick the correct unit

You added 2 lengths:

(a) 125 m )
(b) 125 g [:]
(c) 125 cm C]

11. A thread is 150 cm long. Ria cuts 50 cm

Remaining thread =

12.Tick all correct

(a)45cm + 55 cm =100 cm C]
(b)90cm-30cm=70em ()
(c) 120cm - 60 cm =50 cm C]

13.The bed is 200 cm, the table is 150 cm

Together =

14.Convert and solve
1m=100cm

100cm+75cm =

15.Fill in
Totalof 60 cmand90cm=__m ___ cm

16.Ria’s pencil is 12 cm, Tia’s is 15 cm

Who has the longer pencil?

17.Subtract the length

200cm -125cm =




